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Chapter 4 Review

(Honors Chemistry)

Use the given number of neutrons and electrons to fill in the chart and determine whether the atom is...

Common: all information is exactly like the information on the periodic table.
Ion: the electron number differs from the proton number, but all other information is the same.

Isotope: the mass of the atom is different than the most common version.

| L T R e e o o
1. Se 21 45 |\ A4 18 Cotion , S+
2. K 19 qa 14 23 19 Tsatope
3. | Cobalt 27 (5| 27 32 29 Anon , Co%
a. o b 22 16 16 18 Amen | 5 2-
5. Argon | % 40 19 2% 18 Commen
6. | Uranium qa 233 a2 146 92 Commen
% Ce 20 s 20 23 20 Tsaelope
8. % 15 3 \S 16 18 Awen P 5
9. PL 92 215 82 143 82 Tsetope
10. Zinc 30 (s 20 35 30 Commo N
11.| Aluminum 13 30 e |7 13 Tsatope
12.| Potassium 19 39 14 20 18 |Catin KV
13| Ce 58 42 5¢ 84 58 T satore
14.|  Sodium R 23 | |'A 10 Cation, Nat
15.| Chlorine ) ] 35 | 7 18 18 MAion , CL
16.|  Radon 3 222 96 13 L 86 Commen
i3 [V\ 9 12 22 12 |0 12 Tsetope
18.|  Boron 5 il 5 6 5 Common
19.]  Nickel 29 59 2.8 3) 26 Cohien . N w
20.| Bismuth e | 209 ¢3 |2 b 83 Common
21.|  Iridium 7 7 lab 77 119 77 I sotope
2| Ha 80 20\ 40 121 78 Coten, Hq **
23.itanium 22 50 T ad % 22 ZsoTtoPE




Complete the following table!

Element Atomic # Mass # Protons Electrons Neutrons

24, Calcium — 43 20 13 20 20 B

25, Lit* 2 7 2 2. 4.

26. Sulfur - 36 b 36 |6 iLs 2.0

27. o* 4 |b 4 10 | 74

28. Use the following information to determine the average atomic mass of chlorine. The two isotopes known are
chlorine-35 (mass = 35.0 amu) that has a relative abundance of 75.4% and chlorine-37 (mass = 37.0 amu) with a
relative abundance of 24.6%.

5 xR .7%4 = db3%0 ,
; (35 .uaz]

37 K .24 = A4.lot

29. Neon has two isotopes. Neon-20 has a mass of 19.992 amu and neon-22 has a mass of 21.991 amu. In any sample
of 100 neon atoms, 90 will be neon-20 and 10 will be neon-22. Calculate the average atomic mass of neon.

20 X 9 = 19,000 ,
22 - % .|\ = 2.200 @C’-ZOC’J

30. Sulfur has four isotopes. Sulfur-32 (mass = 31.972 amu) with a natural abundance of 95.0%, Sulfur-33 (mass =
32.971 amu) at 0.76%, Sulfur-34 (mass = 33.967 amu) at 4.22%, and Sulfur-36 (mass = 35.967 amu) that is
naturally abundant at 0.014%. Calculate the average atomic mass.

32 X .95 =  36.400
33 X 0076 = . 251
W ¢ Louzr = 1L43%
3L £ ,00614 = -00%

Give the charge when given the electron number, write neutral if there is no charge

(32.00\\

Nitrogen with 10 electrons. N 3- Oxygen with 10 electrons. O -
Manganese with 27 electrons. mh 2~ Krypton with 36 electrons NCO“W& \
Copper with 27 electrons. C—(.L 2* Phosphorus with 18 electrons. P 3=
Iron with 24 electrons. Fe Lol Aluminum with 10 electrons. A\, 3

Gold with 79 electrons. ‘_ﬂw%ra / Uranium with 86 electrons. U b+
Barium with 54 electrons. Bo\ x Calcium with 18 electrons. Co_ g

Bromine with 36 electrons. Br o lodine with 54 electrons. I -




